HEEAEE - AR (B - FF)
BER B AEE | MEE e
A ruE | yum | T * 9
LSBITA 820 820 0
M2 INA 500 300 200
BEZERESINA 53,313 56,243 A2, 930
SHELIWA 145,198] 154,728] A9, 530
mlEZmA 100 50 50
AMamLig A 500 500 0
5| [LERBEEIA 30,889] 37,890 A7,001
= |zmaasEsLmA 1, 601 1, 601 0
2 [zothoigA 350 350 0
Io|_{SEERIRAGH (1) 233,271] 252, 482] A19, 211
7| Az 174,171]  175,395] A1,224
e QEET R 50,694] 62, 918] A12 224
ERE T 12,330]  15,397] A3, 067
s|tEEL RS S LR 2,700 2,800 A100
431883 150 150 0
B R 2 % 1, 300 1,300 0
2R % H 50 50 0
BEZBHTHEH (2 241,395 258,010] A16, 615
EXIHESIHEER)=(1)-(2) A8, 124] A5, 528] A2 596
| R R A (@) 0 0 0
?g’f)\
il | EE & mie X 800 500 300
F | e S X it (5) 800 500 300
%t BRBEHEEESINHELE(6)=4)-(5) A800 A500 A300
Iy
b1
2|l 30 RE R AR INA 5, 000 7,810 A2 810
Bz oo EBIRA () 5, 000 7,810] A2, 810
Ol |#ir e %ot 1,000 10,000] A9, 000
Bt = Dt EBZ HE (8) 1,000 10,000] A9, 000
HzotoznaenzzE©=-0-8| 4,000 A219%] 6, 190
i
B2
T i 2 S i (10) 0 0 0
L ESINK ELEA S A4, 924] A8 218] 3 204
(11)=(3)+(6)+(9) - (10)
BRI GBS (12) 81,022]  91,267] A10, 245
LERFIE LS (11)+(12) 76,098]  83,049] A6, 951




